Year 3 — Autumn 2 — Week 5
Focus: Prefixes - in

Dictation
It was | |to leave the puzzle| .
The chimney was | 1 .
The bulb was| Ibecause it was| !
The children were getting more | .
They had an | [to work as a team.
The new building was | .
The computer was| |of working correctly.
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& Year 3 — Au'tumn .2— Week 5
Dictation (ANSWERS)

It was inconsiderate to leave the puzzle incomplete.

The chimney was indefinitely inactive.

The bulb was incorrect because it was incompatible.

The children were getting more independent.

They had an inability to work as a team.

The new building was incredible.

The computer was incapable of working correctly.
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